Ww

2,700

1=

2,700

FrIK SRR
(37E2)
\ L
\ /
2, 700 _‘T’,
\
_-Lk} : =2 e
o3 ) ] e g o
FII v \
n% 1 A
X - L. B0 e
| o
| 75
y o 128 )
S
X /X’
—15
| \
R
-— /
-— /
-— /
- /
20 | .-\L/ E XY
- -/;’_:/—:// \
— /
\ GV80
37 HIFL 6100 A _
\ 6L+300 q \ KETS T 50A
il

100

BEE 2ok~

HI-BV65

\ \

FRv7

HI-BV65

b
FkRT &Y

\
- /
e
2 S —|—
e ; -

\®\‘L/_\_x

P}

##
1,212

FERR SRk~

oy Fak A 65
%/ e
X /w

HI-BVES

HIVP50

-

VB

oy

H1-BV65

vﬁ
Zx
o & HIVPE5
P

HIVPE5 Y
#HKHRo LY

X

AI®

HEERRHIKE  HIVP
— F —— FEBHAKE HIWP
— = HBREKE HiVP
BEkE VP




< 4 /30
GY50 Gv2s5

tl““'.].‘ @
g B ?ﬁ

/_\

50 so;L ‘;‘;;‘; .
'I'R\"_I/ll‘; _/ . ¥ laveo
< Laveo

AN

o A TR AD TR BC
i %Jl\?ﬁ f[p% Y B

i3 L
1% ‘],?.
Pl ®
20
" A
v
5 & "
N,
r @ ] 50,50 2 !
: 100 [ FUS0%2 125 FiL ke
s
BEEEEYD— oL Z wso [ o
&2 oves EQ\ é é e >
l 5 aipee BV75 .
) \ vaqsuhs Nié::‘ ﬁmoo & i,::::—*'—ﬁ— i 4
GL
< L Pz  Bsxe N v -
1 AN w2t | [ L omnan / / NN %
R FRE R < —— s =
| \_50.75
50| .
T )< —2— I—-—t> -
! (/ [
L. Pq“"—! av2sm e & 254
i 2 Lo sysuox sxe
Sal Nyt bl Lt i e 5
= - po— = HERK T 552 = =X
20 |
b ]
| [ &
el \ *I‘bl
" \
N Sy
e = X LUK TR B ok )
FIREIR) & BV25am (v & R H
7k 38 250m
3 E >4

Non Scale




